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KEY FOR CLASS :  8

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

05 Option (A) is the correct answer. It is Because = By+Cause.
10 Option (D) is the correct answer. The correct spelling is : Uncertainty
13 Option (A) is the correct answer. They are : Masculine, Feminine, Neuter and Common.
15 Option (C) is the correct answer. ‘Fry’, is a baby fish.
23 Option (D) is the correct answer. The sound produced by the first syllable of a word decides the indefinite

article it takes. In case of ‘union’ the sound produced is that of a consonant as in ‘you’, so article ‘a’; in
case of ‘MOU’ the sound produced is that of a vowel as in ‘aim’, so article ‘an’ and in case of ‘unjust’ the
sound produced is that of a vowel as in ‘another’, so article ‘an’.

24 Option (B) is the correct answer. The word ‘since’ means ‘from a point of time in the past until now’, and
so present perfect ‘has been’.

25 Option (C) is the correct answer. When either . . . or is used, the subject near to the verb (here cousins),
decides the number of the verb, so ‘are’. Option (D) : ‘have’ though may agree with the subject, it renders
no meaning and so is unsuitable.

30 Option (D) is the correct answer. Latex is the base for making a paint and so is stock for a soup.
32 Option (D) is the correct answer. The statement is not a universal truth and hence the change of tense. The

Sun just appears to move from east to west because the earth revolves around itself from west to east,
which actually is the universal truth.

33 Option (C) is the correct answer. When the reporting verb is in the present tense (says here), there is no
change in the tense of the reported speech, though prepositions and pronouns change as per the rules.

34 Option (B) is the correct answer. The subjects ‘man’ and ‘I’ either receive or make the action.
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